

SAMAGRA SHIKSHA-DELHI

(A Society under Education Department, Govt. of NCT of Delhi) Lucknow Road, Delhi - 110054

 $Ph.\ 011\text{-}23810508, 23811442 Email: spd_delhi@rediffmail.com$

F.DE. (29) Samagra Shiksha/PEC/2023-24 5177-5189

Dated: 25

CIRCULAR

Subject: Celebrating Rangotsav in Schools (DoE, MCD, NDMC and DCB) under Experiential Learning at Elementary Level (Grades I to VIIIth) under Samagra Shiksha for year 2024-25.

Rangotsav, a festival of colours is an annual activity conducted under the ageis of Samagra Shiksha-Delhi to promote experiential and joyful learning through various cultural activities.

This year too, the festival of colours, Rangotsav has been approved by Project Approval Board (PAB 2024-25) of Ministry of Education, Govt. of India. The activities will be done at Elementary level in Govt. Schools on the theme - "WE THE PEOPLE OF INDIA" which resonates India's Unity In Diversity, Ek Bharat Shreshtha Bharat etc.

Target group and proposed activities at various level in school-

Class - I	Fancy Dress Competition (Unity In Diversity)
Class - II	Art work (Thumb painting/Leaf Printing/ any other innovative method as the teacher may decide
Class - III	Cooking without Fire (Topic- Indian Dishes)
Class - IV	Collage making (Topic- Incredible India)
Class - V	• Best Out of Waste Craft Competition - Swachh Bharat-Swasth Bharat, Reuse of waste Material/Resource Conservation
Class-VI	Cultural song/Dance competition
Class -VII	Poster Making Competition (Topic- Democratic India)
Class -Vill	• Traditional Folk Art Painting Competition(अतुल्य भारत/Incredible India

Guidelines for conduct Festival of "Rangotsav":-

- 1. The activities are to be conducted at school level i.e. For Classes I to VIII

 Compared a compared to the conducted at school level i.e. For Classes I to VIII

 Compared a compared to the conducted at school level i.e. For Classes I to VIII
- 2. Encourage every student to participate in the activity and submit their entries in the following form:-
 - Fancy Dress Competition (Unity In Diversity) (Class I)— Children can dress-up in any of their home state people and speak 3-4 lines about their home state.
 - Art Work (Thumb Painting/Leaf Printing) (Class II)- With an aim to inculcate respect for the country and its diversity in the young minds students can make any thumb/Leaf printing by using Tri Colours (saffron, white and green) on a drawing sheet or any other pastel sheets.
 - Cooking without Fire (Topic- Indian Dishes) (Class III)- Students can
 produce their own artwork based on the given theme on an A4 size
 sheet. Judgement criteria for this competition will be based on the
 overall presentation & idea.
 - Collage Making (Topic- अतुल्प भारत/Incredible India (Class IV) A variety of collage techniques helps to enhance exploratory mind and imagination. Student will make a collage on A3 size sheet and showcase their creativity on any topic such as Millets, Indian Culture, and Famous Places in India, etc.
 - Best Out of Waste Craft Competition Swachh Bharat-Swasth Bharat, Reuse of waste Material/Resource Conservation (Class V)-Student enhances his/her imagination and creativity by doing innovative things using reusable and recyclable materials such as newspapers, shoe boxes, bangles, ice-cream sticks and more.
 - Cultural song/Dance competition (Class VI)- The student may choose a song of 3-4 minutes duration so as to showcase his/her hidden talent. The entries will be judged on the basis of rhythm, composition, coordination and overall impression.
 - Poster Making Competition (Topic- Democratic India) (Class VII) Student will make poster on A3, Legal size or a poster size.
 - Traditional Folk Art Painting Competition (अतुल्प भारत/Incredible India (Class VIII) The inspiration and power of art play a vital role in enabling our children to enhance their creative talent and develop their artistic skills. Students can choose any one traditional folk art like-

Madhubani, Kalamkari, Warli Art,etc. and would depict it on an A3 size sheet.

- 3. Teachers will inform parents and guide them and students to explore their creativity and the ways to submit the entries clearly indicating name, class and section of each child.
- 4. Best entry for each grade will be selected by the School Judgement Team Including Principal/In-charge Teacher and concerned CRCC for evaluation.

Details of expenditure:

Level	Activity	No. of Schools with elementary classes	Unit Cost @ Each School	Total Financial Implications	
Elementary	Rangotsav	2571	Rs.500	Rs. 12,85,500	

District-wise amount distribution is as under:-

S.No	District	No of Elementary Schools	Unit Cost	Total Financial Implications
1	Central	92	Rs. 500	46000
2	East	279	Rs. 500	139500
3	New Delhi	46	Rs. 500	23000
4	North	158	Rs. 500	79000
5	North East	308	Rs. 500	154000
6	North West A	320	Rs. 500	160000
7	North West B	316	Rs. 500	158000
8	South	165	Rs. 500	82500
9	South East	235	Rs. 500	117500
10	South West A	95	Rs. 500	47500
	South West B	210	Rs. 500	105000
11		157	Rs. 500	78500
12	West A	190	Rs. 500	95000
13	West B		110.000	12,85,500
	Total	2571		12,30,000

- 5. Each schools will receive an amount of Rs. 500/- for conducting the activity which may be utilized for prizes, printing of certificates, stationery etc.
- 6. Each DURCC will submit at least 5 best activities from each grade at District Level to SS-HQ for exhibition and further felicitation and awarding of the best among them by SS-HQ.

7. The details of the award winning entries may be submitted through E-mail at primarycelldelhi@gmail.com. The videos need to be uploaded on the Google drives and the link for which are to be shared. Additionally the hard copies are also to be submitted to SS-HQ which will be further displayed in an exhibition at Samagra Shiksha-HQ.

(Parvinder Kumar) Deputy Director of Education Samagra Shiksha-Delhi

Copy to:-

- 1. PA to Secretary Education, Delhi.
- 2. PA to SPD Samagra Shiksha, Delhi.
- 3. P.S. to Director Education, MCD Dr. S.P. Mukherjee Marg, Civic Center, JLN Marg, New Delhi- 110002.
- 4. The Director, Education NDMC, Palika Kendra, Parliament Street, New Delhi
- 5. Director, Delhi Cantonment Board, Delhi.
- 6. DPOs/DURCCs/CRCCs to ensure timely implementation with in time period.
- 7. OS (IT) for uploading it on web-site.
- 8. Guard file.

Deputy Director of Education Samagra Shiksha-Delhi

11	10	9	00	7	6	QI	4	ω	N	1	S.No.			
											Name of the Student	Record of Name of the School School ID		
											Class	ord of Winner		
											Fathers/Mothers Name and Mobile No.	Record of Winners for Rangotsav 2024-25 to be submitted School-Wise		
											Name of the Competition Won	be submitted Sci District Management		245/6
	+										I, II, III	hool-Wise		
											Sample Submitted (Yes/No)	***************************************	Annexure I	
						T,		1			N			